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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours Part-II Examination, 2019  

ECONOMICS 

PAPER: ECOA-IV 

Time Allotted: 4 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

Use separate Answer Book for each Group and mention the Group on Answer Book 
pিতিট িবভােগর জন° পৃথক উtরপt ব°বহার কেরা এবং উtরপেtর উপর িবভাগ উেlখ কেরা 

 GROUP-A 

িবভাগ-ক 

1. Answer any three questions from the following: (within 100 words each) 

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাওঃ (pিতিট  ১০০  শেbর মেধ°) 
4×3 = 12

(a) Describe different stages of economic growth as suggested by Karl Marx.  

কাল� মাk� বিণ�ত অথ�ৈনিতক িবকােশর িবিভn sর বা পয�ায়gিল বণ�না কেরা। 

(b) What is Human Development Index? 

মানব উnয়ন সূচক িক ? 

(c) Distinguish between relative poverty and absolute poverty. 

tলনামূলক দািরd° এবং চরম দািরেd°র মেধ° পাথ�ক° িনেদ�শ কেরা। 

(d) What do you mean by ‘forward linkage’? Give a suitable example.   

‘অgবত�ী সংেযাগ pভাব’ বলেত িক �বােঝা ? একিট উপযুk উদাহরণ দাও। 

(e) What is the environmental Kuznets’ curve?  

পিরেবশগত kজেনট �রখা কােক বেল ? 

  

2. Answer any one question from the following: 

িনmিলিখত �য-�কােনা একিট  pেűর উtর দাওঃ 

8×1 = 8

(a) Explain the concept of capital-output ratio as an instrument of development 
planning. 
উnয়ন পিরকlনার উপায় িহেসেব মূলধন-উৎপাদন অনুপােতর ধারণািট ব°াখ°া কেরা। 
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(b) Briefly discuss the process of demographic transition and explain its implication 
on economic development of a country.  

জনসংখ°া পব�াnেরর pিkয়ািট সংেkেপ আেলাচনা কেরা এবং �কান একিট �দেশর অথ�ৈনিতক উnয়েন 
এর তাৎপয� ব°াখ°া কেরা। 

(c) What are the implications of gender discrimination to economic development? 

অথ�ৈনিতক উnয়েনর �kেt িলñিভিtক �বষেম°র pভাবgিল িক িক ? 

  

3. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) ‘Workers base their migration decision on their expected income’ — Explain this 
proposition with the help of a suitable model. Suggest some policy measures to 
restrict rural-urban migration in this context.  
‘Ëিমেকরা তােদর অনুিমত আেয়র উপর িভিt কেরই pচরণ িসdাn gহণ কের’ — একিট উপযুk 
মেডেলর সাহােয° এই িববৃিতর ব°াখ°া pদান কেরা। এই pসেñ gাম-শহর pচরণ �রাধ করার জন° িকছু 
নীিত িনধ�ারেণর ইিñত pদান কেরা। 

9+6

(b) Examine the view that – it is not possible to make an inevitable choice in favour 
of more labour intensive technique even in the overpopulated countries unless we 
make explicit choice between the present and the future.  
বত�মান এবং ভিবষ°ৎ এর মেধ° sŶ পছn যিদ না আমরা িsর কির তাহেল অত°িধক জনাকীণ� 
�দশgিলর �kেtও অিধক Ëম-pধান উৎপাদন �কৗশেলর সমথ�েন অপিরবত�নীয় পছn িsর করা সmব 
নয় – এই মত পরীkা কেরা। 

15

(c) What do you mean by human capital? Explain the correlation between the 
formation of human capital and economic development in a less developed 
country.  
মানব মূলধন বলেত িক �বােঝা ? �কােনা sেlাnত �দেশ মানব মূলধন সৃিŶ ও অথ�ৈনিতক উnয়েনর মেধ° 
সmক� ব°াখ°া কেরা। 

5+10

(d) Explain the possible sequences of projects in an unbalanced growth strategy. 
What should be the most efficient sequence for maximizing ‘induced decision 
making’? 
অসম উnয়ন �কৗশেল িবিভn pকেlর সmাব° পয�ায়gিল ব°াখ°া কেরা। ‘pেণািদত িসdাn gহণ’ 
সেব�াcায়েনর �kেt সব�ােপkা দk পয�ায় িক হেত পাের ? 

10+5

  

 GROUP-B 

িবভাগ-খ 

4. Answer any three questions: (within 100 words each) 

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাওঃ (pিতিট  ১০০ শেbর মেধ°) 
4×3 = 12

(a) What is Multinational Corporation?  
বhজািতক সংsা কােক বেল ? 

(b) Discuss the concept of Tariff war. 
ǖl যুেdর ধারণািট আেলাচনা কেরা। 
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(c) Mention the objectives of International Monetary Fund. 
আnজ�ািতক অথ�ভাčােরর উেdশ°gিল উেlখ কেরা। 

(d) Give two examples of market failure in the economy.  
অথ�নীিতেত বাজার ব°বsার ব°থ�তার dিট উদাহরণ দাও। 

(e) What are the different types of loan provided by the World Bank? 
িবƬব°াì িক িক ধরেনর ঋণ িদেয় থােক ? 

  

5. Answer any one question from the following: 

িনmিলিখত �য-�কােনা একিট  pেűর উtর দাওঃ 

8×1 = 8

(a) Critically discuss Paul Baran’s and A.G. Frank’s Dependency theories. 
পল ব°ারণ এবং এ. িজ. Åােìর িনভ�রশীলতা তেttর সমােলাচনামূলক আেলাচনা কেরা। 

(b) Critically discuss the roles and functions of UNCTAD for economic 
development. 
অথ�ৈনিতক উnয়েন UNCTAD–এর ɛিমকা ও কায�াবলীর সমােলাচনামূলক আেলাচনা কেরা। 

(c) Discuss the role of state in the planning of a mixed economy. 
িমË অথ�নীিত পিরকlনায় রােŷর grt আেলাচনা কেরা। 

  
6. Answer any two questions from the following: 

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

15×2 = 30

(a) Critically evaluate the role of Foreign Direct Investment (FDI) in fostering 
economic development in Less Developed Countries (LDCs). 

sেlাnত �দশgিলর অথ�ৈনিতক উnয়েন pত°k �বেদিশক িবিনেয়ােগর (FDI) ɛিমকার 
সমােলাচনামূলক মূল°ায়ন কেরা। 

15

(b) Examine the nature of the debt crisis in the Third World with a special note on the 
role of IMF in this context. 

tতীয় িবেƬর �দশgিলর ঋণ সংকেটর pkিত আেলাচনা কেরা। এই pসেñ আnজ�ািতক অথ�ভাčােরর 
ɛিমকা িলিপবd কেরা। 

15

(c) Explain clearly the notions of import substitution and export promotion as 
alternative means of industrialisation in LDCs. Import substitution policy is 
economically inefficient and costly to administer — Explain. 

sেlাnত �দেশ িশlায়েনর িবকl পnাrেপ রpািন বধ�ন এবং আমদানী pিতsাপন ধারণার ব°াখ°া কেরা।  
আমদািন pিতsাপন নীিত আিথ�কভােব দk নয় এবং কায�করী করা ব°য় বhল — ব°াখ°া কেরা। 

6+9

(d) Critically analyse the provisions of WTO from the view point of development of 
agricultural sector in less developed countries. 

sেlাnত �দশgিলর kিষেkেtর উnয়েনর দৃিŶেকাণ �থেক িবƬ বািণজ° সংsার (WTO) ধারাgিলর 
সমােলাচনামূলক িবেųষণ কেরা। 

15

 
——×—— 
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